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Interview Assessment 

	Key Stage
	：
	3

	Dimension
	：
	Data Handling

	Learning Unit
	：
	Measures of Central Tendency

	Basic Competency
	：
	KS3-DH3-3

Calculate the weighted mean of a set of data.


Introduction：

[image: image1.wmf]
[image: image2.wmf]¹


[image: image3.wmf] 

 

 

 

 

+

 


[image: image4.wmf] 

 

 

 

 

+

 


[image: image5.wmf] 

 

 

 

 

+

 






Learning Unit：Measures of Central Tendency ─ Interview Assessment 

Problem-solving Series

Interview Assessment 

Scenario

A human resources manager is preparing an interview assessment form. Here is the form:

	Competency
	Score (10 as full score)

	Language skills
	

	Computer literacy
	

	Communication
	

	General knowledge
	

	Creativity
	

	Manner
	


He will give scores for candidates on these 6 competencies, each of which the full mark is 10.  The company is looking for a secretary, an information technology development officer and a financial director.

Discussion

(1) The human resources manger believes that different positions require different competencies for different tasks.  If you were the president of the company, what would be your preferred competencies for each of these positions?  Put down the weight for the competencies required in different positions.

Secretary

	Competency
	Scores (10 as full score)
	Weight

	Language skills
	
	

	Computer literacy
	
	

	Communication
	
	

	General knowledge
	
	

	Creativity
	
	

	Manner
	
	


Information Technology Development Officer

	Competency
	Scores (10 as full score)
	Weight

	Language skills
	
	

	Computer literacy
	
	

	Communication
	
	

	General knowledge
	
	

	Creativity
	
	

	Manner
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Financial Director

	Competency
	Scores (10 as full score)
	Weight

	Language skills
	
	

	Computer literacy
	
	

	Communication
	
	

	General knowledge
	
	

	Creativity
	
	

	Manner
	
	


(2) The table below shows the interview scores of the three candidates who applied for the position of secretary：
	Competency
	Scores (10 as full score)
	Weight 

	
	Paul Lee
	Eric Kau
	Betty Dik
	

	Language skills
	8
	5
	9
	

	Computer literacy
	5
	7
	3
	

	Communication
	7
	6
	8
	

	General knowledge
	8
	7
	8
	

	Creativity
	3
	6
	7
	

	Manner
	8
	4
	9
	


Based on the weights you’ve discussed, who would you employ as the secretary?  Why?

First, the teacher gives the class a revision on the basic concept of weighted mean.


Weighted mean = � EMBED Equation.3  ���


The teacher invites students to have group discussion.  Each group will have the discussion sheet “Problem-solving Series – Interview Assessment”.  In the scenario, students will apply the concept of weight and discuss its importance when finding the weighted mean.  Next, they will put down the weight for each item and calculate the weighted mean.


The teacher asks students to report their findings from discussion. Teacher emphasizes that when finding the weighted mean, the values of data, number of items and the weight of each item should be taken into account.


Thus,


Weight mean � EMBED Equation.3  ���





The teacher shows an example to consolidate students’ knowledge.


In an adult piano solo competition, there were 6 assessment criteria.  The full score of each criterion was 10.   Weight for each criterion were taken into account when calculating the candidates’ scores.  The scores obtained by 3 candidates are as follows：
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�





�





The sum of all data multiplied by their corresponding weights





The sum of the weights








Assessment Criteria�
Weight�
Joanne�
Victoria�
Joyce�
�
Accuracy�
1�
7�
8�
6�
�
Tempo�
1�
5�
8�
7�
�
Style�
2�
8�
9�
8�
�
Tone production�
3�
7�
6�
8�
�
Interpretation�
3�
6�
7�
9�
�
Find out the candidates’ weighted mean scores. (6.7 for Joanne; 7.3 for Victoria; and 8 for Joyce)


Who won in the competition? (Joyce)


5.	The teacher can use further examples to consolidate students’ knowledge.











The sum of data from each item





The sum of items 
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